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Year 3| Summer Term | Week 9 to 11 - Measurement: Mass & Capacity @
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Add & Subtract Mass

Reasoning and Problem Solving

The green parcel weighs 5 kg. Blue parcel =4kg | | Dora buys two peaches and three pears. | 50 g
Can you work out what the blue and and 400 g

brown parcel weigh?
Brownparcel =2 || One peach weighs 75 &
7kgand 250
€and250e ) | \gand850¢g

9kgand400¢g Three pears weigh the same as two ﬁ

peaches.

How much does one pear weigh?

How much would the green and brown | Green and brown O

parcel weigh altogether? parcel = 7 kg and
850g






 




 

